O 92cm? @ 94cm? @ 96cm?

@ 98cm? ® 100cm?



fr Su

&3} 28 SHATE]E ABCD 9] Wol
?

@ 302 cm? @ 31V2cm?

@ 33V2cm? ® 34v2cm?

® 32v2cm?



@ 5cm, 6cm, 9cm
© 4cm, 4V3cm, 6cm

@ 10cm, 16 cm, 20 cm

© 9cm, 12cm, 15¢cm

® 5cm, 12cm, 13cm

D L
=%
5 L

=%




L

4. o2 "2 /A =90° 2 A4
o4 7 A o4 BC ol 42 1
o] gk Fatoiat

D R
=%



5.

ohe 23} 22 A A ABCD 9 Wi
5cm, PD = 3v3cem @ o), PA” 4+ PC° 9] e

A

@® 34 @ 42

T A

F =
o

——D
3\/§cm
P
5¢m
C
® 49 @ 50

P 7} 3t

® 52

PB



6. TS a4 AADC 9] Yol=2

A

13em” " Tloem
T)/ N

D ~ - ~ -
~12em-" D>~ 4--

'l
\ %

D 25v2cm? @ 20cm? ® 10V5 cm?
@ 25cm? ® 10 V10 cm?



7.

o,




8. o3 ™4 oABCD = AAHER ol A -1~ A5cm_
oL BHol Yo7} 289 cm? ¢ o, x 9]

are Fokofet,

~15cm ~2-C

SEE en



AF7tegolal, AACE = 200, CD = 12 9 o, A}t}2] & ABDE ¢

C. D = 224 910 k. AACE
4]

ea

olE?

uh

® 32+ 10V2

@ 644203
® 56+ 20V2

@® 100

@ 80



10. o8 797 e 4717 ABC o4 2 g A Bo 2 s A
WP, QR E 1% 1, Al §H91] Yol o] g-e?

T = 1= .

AP

O 64mcm? @ 70mcm? @ 8lmcm?

@ 100mcm? ® 1217cm?



11.

o5 1™ Zo] AAZFY ABCD
o HB7/ADOI =E HAr
AB =5cm, BC =7cm ¢ W, AA’ED 9]
yo]&=?

24

@) 7cm2 @ 7cm2
©) ?cm2 @ 4cm?
® 30w

=
-~ BT~







13. the T8} e AZHY ABCD ol HAC L A
BD % uf, OC 9] ol & Tstoier.

@ 5 @ 4
® 25 @ 1+ V14
® 313




